1.  Find the rjaoftl'is*_
6.cm
2 ind the area of this rectangle
15 mm

20 mm

3. ind the mis in\ngmgth if the area of the rectangle is 75 square cm

12.5cm
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1.  Find the area of this square.

Area of square = side x side

6cm Side of square = 6cm
Using the formular above we have,
(Bcmx6icm) =36cCcm | ]

The area is 36 square cm

2. Find the area of this rectangle.

Area of rectangle = Length x width

15 mm Width =15 mm

Length =20 mm
20 mm Using the formular above we have, | .
(20 mm x 15 mm) = 300 mm

The area is 300 square mm

3. Find the missing length if the area of the rectangle is 75 square cm

Area = 75 cm?
Width =12.5.cm

S Using!the formular (Area = | ength x Width),
wehave ——>» | 75cm?=S/x12.5
12.5cm Sl=75/12%
S=6cm

D
o=k
Therefore, the length =6 cm -1 :
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